Sociology – Essay Plan
Module G674: Exploring Social Inequality and Difference

Examples of Essay: Question 3b/4b

Assess sociological explanations of gender inequalities in the UK

Assess sociological explanations of ethnic inequalities in the UK.

Assess sociological explanations of age inequalities in the UK.

Exam Tips: 

· This essay needs to be AT LEAST 3 / 4 sides of an A4 long. You are expected to write as much as you can in only 40 -45 minutes.

· You should structure this essay into an introduction, main section and a conclusion.

· Be holistic: show the examiner that you can link this module with other modules you have studied.

· You are expected to know the theoretical perspectives in depth.

· Make use of Sociological Concepts. Give examples if you can.

· Quote sociologists / studies to back your ideas. Without these, your essay will just be random opinions.

· Do not forget to evaluate your arguments – otherwise you lose 20 marks automatically. You can evaluate the method of research / the date / by quoting another sociologist or study which contradicts your initial study.
Knowledge and Understanding (ALWAYS AGREEING WITH THE ESSAY TITLE)

You need to include the following in your essay

· Studies

· Concepts

· Theories

· Contemporary Examples

Interpretation and Application

You need to apply knowledge to the set question. Use words such as

· This shows … 
· This can be seen in … 
· This means … 
· This study can be related to
Evaluation (DISAGREEING WITH THE ESSAY TITLE)

You need to think critically – evaluation can be both negative and positive. Use words / ideas such as

· This study can be criticised because …

· A major advantage of this study is that … 

· An opposing view is …

· However … 

· One weakness is …

· One strength is … 
Activity 1: Read the following extract from a student’s essay. Choose the appropriate band for AO1 and A02a.

	AO1: Knowledge and Understanding

13-15 marks

Excellent knowledge of Inequalities

Largely theoretical and conceptual with some empirical studies 

Wide ranging & Depth of sociological understanding

Holistic approach to sociology

Excellent quality of written communication

Logical presentation, accurate and coherent manner

Very few errors of grammar, punctuation and spelling

10-12 marks

Very good knowledge of inequalities 

Wide ranging and detailed (lacks the depth of the band above)

Good quality of written communication

Logical presentation, accurate and coherent manner

Few errors of grammar, punctuation and spelling

7-9 marks

Good knowledge of inequalities 

Either wide ranging or detailed 

Good quality of written communication

Logical presentation, accurate and coherent manner 

Few errors of grammar, punctuation and spelling

4-6 marks

Basic knowledge of inequality 

Appropriate knowledge displayed but lacks width or depth

Candidate is aware of some areas of social inequality

Demonstration of a core understanding of theory

Basic quality of written communication with limited coherence 

Some errors of grammar, punctuation and spelling.

1-3 marks

Limited knowledge of inequality 

Appropriate knowledge that lacks width or depth

Limited quality of written communication with limited coherence 

Several errors of grammar, punctuation and spelling

0 marks

No relevant sociological knowledge or understanding displayed.
	Extract from Essay

… Marxist feminist explain gender inequality as a result of capitalism and patriarchy. They argue that it is not only men that exploit women but capitalism too. This suggests that women are affected by their class position as well as their gender. According to the Marxists feminist explanations of gender inequality, the interest of patriarchal and capitalism can be seen to coincide. Benston (1972) focused on the economic aspects of gender inequality and they think that capitalism maintains a ‘reserve army’ of workers. This means that women are temporarily useful in times of economic crisis, e.g. recession. It also produces the ideology that women are most suited in the home and that the nuclear family is the best and only way of living. This serves capitalism in a number of ways. For instance, by reproducing future workforce and by socialising them in the values of capitalism, all at no expense to the business. This serves the interest of capitalist owners by keeping wages down. In the workplace, low pay for women keeps them dependent on men. This undoubtedly weakens the women’s labour market whilst strengthening men’s, hence increasing the power men hold over women. Statistics show that 84% of part-time workers are women and that for every pound a full time male worker earns, women only received just 60%. This shows that capitalism contributes to gender inequality by maintaining a patriarchal society.
	AO2a: Interpretation and Application

5 marks

Excellent ability to interpret sociological knowledge & application to the debate in the question.

Knowledge applied to contemporary issues.

4 marks

Very good ability to interpret sociological knowledge & application to the debate in the question.

3 marks

Good ability to interpret sociological knowledge & application to the debate in the question.

2 marks

Basic ability to interpret sociological knowledge & application to the debate in the question.

1 marks

Limited ability to interpret sociological knowledge & application to the debate in the question.

0 marks

No relevant interpretation or application.




Activity 1.1: Read the following extract from a student’s essay. Choose the appropriate band for A02b.

	AO2b: Evaluation and analysis

17-20 marks

Excellent ability to evaluate and analyse inequality / a critical commentary on contemporary sociological debate drawing on theoretical and conceptual arguments

13-16 marks

Very good ability to evaluate inequality / sustained evaluative argument together with some precise points of evaluation

9-12 marks

Good ability to evaluate inequality / some precise points of evaluation raised but may leave these undeveloped and unexplored.

5-8 marks

Basic ability to evaluate and analyse inequality / juxtaposed responses

1-4 marks

Limited ability to evaluate and analyse inequality / at least one point of evaluation

0 marks

No relevant evaluation or analysis.


	Essay Extract

The strength of Marxist feminist explanation of gender inequality is that it is the first sociological perspective that highlights the influence of capitalism in producing and maintaining gender inequality. However, there are a number of criticisms to underline.
Firstly, like all other traditional theories of feminism, this explanation of gender inequality is outdated. It explains women’s labour market participation in the last century during the two world wars. Women today face much less discrimination than then and are now seen in high paid work. Approximately 1 in 5 women now earn more than their partners compared to 1 in 15 in the 1980’s. This suggests that the strength of the Marxist feminist explanation of gender inequality is no longer sustainable as an argument.
Secondly, the appearance of women in the labour market cannot be seen as temporary. This is because women now occupy both full and part time positions in the workplace. If anything, it is men who are most prone to unemployment and who are least likely to be flexible in employment. Also with regard to unequal pay, it is the issue that women often do work that is not highly values as men’s that contributes to inequality, not the ideology of capitalism.

Another criticism of the Marxist feminist explanations of gender inequality is that it reduces all possible explanations to a dual cause, i.e. patriarchy and capitalism in creating gender inequality. This argument is therefore reductionist because it does not acknowledge the possible influences of socialisation and culture in creating gender roles that lead to inequality. Also it is deterministic because it illustrates that gender inequality is generated by the ideology of capitalism. It implies that individuals are passive and brainwashed into the idea that women are naturally suited for the home while men are the breadwinners that work.




Activity 2: writing up an introduction: in pairs, discuss a few ideas that should be included in an introduction to this essay.

Introduction to the essay: Assess sociological explanations of gender inequalities in the UK

Activity 2.1: (Individual Activity) In 5 minutes write up the introductory paragraph to the gender inequalities essay.

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Activity 3, planning the main section: look at your notes and summarise few ideas that should be included under the heading Liberal Feminism. Remember to use the scheme of Marking.
	AO1: Knowledge and Understanding

13-15 marks

Largely theoretical and conceptual knowledge with some empirical studies 

Wide ranging & Depth of sociological understanding

Holistic approach to sociology

Excellent quality of written communication

Logical presentation, accurate and coherent manner

Very few errors of grammar, punctuation and spelling
	AO2b: Evaluation and analysis

17-20 marks

Excellent ability to evaluate and analyse inequality / a critical commentary on contemporary sociological debate drawing on theoretical and conceptual arguments




	Evidence of Gender Inequalities in the UK
	Traditional Feminists 
	Contemporary Feminists

	
	Liberal Feminism
	Marxist Feminist
	Radical Feminism
	Postmodern Feminism
	New Feminism

	
	K&U
	
	
	
	

	
	Eval

	
	
	
	



Activity 3.1: Write one paragraph of the main section, highlighting the Liberal Feminist perspective of gender inequalities in the UK.
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Activity 3.2: Write up the evaluation of the previous paragraph (3.1)
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Activity 4: writing up a conclusion: in pairs, discuss a few ideas that should be included in the conclusion to this essay.

Conclusion to the essay: Assess sociological explanations of gender inequalities in the UK

Activity 4.1: (Individual Activity) In 5 minutes write up the concluding paragraph to the gender inequalities essay.

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Activity 4: Assess sociological explanations of gender inequalities in the UK

Deadline of this essay, June 7th, 2010 – sent through email to: denise.camilleri@leyton.ac.uk
K&U refers to Knowledge and Understanding


I&A refers to Interpretation and Analysis


Evaluation refers to strengths and weaknesses





AO1: Knowledge and Understanding


13-15 marks


Largely theoretical and conceptual knowledge with some empirical studies 


Wide ranging & Depth of sociological understanding


Holistic approach to sociology


Excellent quality of written communication


Logical presentation, accurate and coherent manner


Very few errors of grammar, punctuation and spelling�
AO2b: Evaluation and analysis


17-20 marks


Excellent ability to evaluate and analyse inequality / a critical commentary on contemporary sociological debate drawing on theoretical and conceptual arguments


�
�
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